AVANTE TYPICAL DETAIL LIST

1.

*NOTES:

SEE CONSTRUCTION MANUAL FOR MATERIAL SELECTION

FOR CORROSIVITY ENVIRONMENT.
DRAWIN HEET
NO. TITLE DETAIL G REV. S 2. SEE CONSTRUCTION MANUAL (CANTILEVER SPAN TABLE)
NUMBER NO. FOR MORE INFORMATION ABOUT AVANTE RAIL CANTILEVER
SPAN REQUIREMENTS.

1 |COVERPAGE COV. | AVATYP-LCOV | 04 1 3. SEE BELOW FOR CORNER ANGLE FIXING PATTERN

2 | TYPICAL ELEVATION ELEV | AVA-TYP-ELEV 01 2

3 | FIXING PATTERN DO1 AVA-TYP-DO1 01 3 CORNER ANGLE FIXED

TO THE BACK OF RAILS

4 | TYPICAL AVANTE WALL SECTION (SIDE VIEW) D02 AVA-TYP-D02 04 4 FIXING PATTERN —

5 | TYPICAL AVANTE WALL SECTION (TOP VIEW) D03 AVA-TYP-DO03 03 5 o

6 | FLOOR FLASHING DETAIL D04 AVA-TYP-D04 04 6

7 | TYPICAL CAPPING DETAIL D05 AVA-TYP-D05 03 7 \é

8 |HORIZONTAL EXPANSION JOINT AND SLAB EDGE FLASHING D06 AVA-TYP-D06 04 8

9 | VERTICAL EXPANSION JOINTDETAIL D07 AVA-TYP-D07 03 9

10 | WINDOW JAMB DETAIL D08 AVA-TYP-D08 02 10 E

11 | DOOR JAMB DETAIL D09 AVA-TYP-D09 03 11 .

12 | WINDOW HEAD DETAIL DETAIL D10 AVA-TYP-D10 03 12

13 | WINDOW SILL DETAIL D11 AVA-TYP-D11 03 13

14 | CORNER DETAILS D12 AVA-TYP-D12 03 14 i

15 | TYPICAL AVANTE DETAIL ABUTTING TO SOFFIT LINE D13 AVA-TYP-D13 04 15 CORNER BRICK FACING

16 | TYPICAL AVANTE DETAIL ABUTTING INTO TRADITIONAL BRICK | D14 AVA-TYP-D14 02 16 01)ommnn NCLE FIXING PATTERN

17 | STANDARD AVANTE BRICK + RAIL SECTION DETAIL D15 AVA-TYP-D15 02 17

FINAL DESIGN AND CERTIFICATION OF ALL ELEMENTS TO THE INSIDE OF THE
AVANTE RAIL TO BE CARRIED OUT BY THE PROJECT DESIGN PROFESSIONAL
01 |FOR CONSTRUCTION P.A | 01/10/2019 BRICKS &TM PA
2 MEssentonco Tty e o IPG PAVERS ™ | Q% A nte - "
04 |REISSUED FOR CONSTRUCTION M.E 23/01/2023 A 75 Townson Road, Schofieds, NSW 2762
A’BN 68 168 794 821 A briCk qulin Stem
e L e e s s N/A S sy AVA-TYP-COV 01




FINAL DESIGN AND CERTIFICATION OF ALL ELEMENTS
TO THE INSIDE OF THE AVANTE RAIL TO BE CARRIED ‘m

OUT BY THE PROJECT DESIGN PROFESSIONAL PAGE 07

PARAPET LEVEL

I | I I I I I I I I I I I I I 7~ I I I I I I | I I I | I I I I
| | | | | | | | | | | | | | | | | | | | | | | | | | | | < DO6\/ | | | | | | | | | | | | | | | | | | | | | | | | | | | | | |
| | | | | | | | | | | | | | \Q‘GE > | | | | I I I I I I I I | |
=FLO"OR ﬂEVEil_ | | | | | | | | | | | | | | | | | | HORIZONTAL EXPANSION JOINT @ FLOORS I | |
| | | | | V@SN | | L7 | | | | | | | D | | | | | | | |
|| " || " || " || =t ||ﬂ" vy || " || " || - DG192/ " || " || "ﬁ'l " || " || " ||ﬂﬂ || " \®ll | | | " | " | " | | | " | " | -+ "
PAGE 09 AGE PAGE 05
- | \|| " | " | | " | | H | " | " | " | " " | | " | " | " 1 : 1 : ~| " | " " | | " | " | " | " | | " | " | | "
I @" " | " L " | | " | " | " | " | " | " | " | " | " | " | | " | " | | "
" N : | " | " | | " | | " | " | " | " | " | " | " | " | " | " | | " | " | | "
= D09
| | | | | | | | | | | | | | | L | | | |
| " | " | " | " " | " " LI D08 — | \H " )ll\ ! | ; | — | " | " | ”" W " | " | " " |
i /
| | | | | L W \ P?(9E103} | | | | | | | | |
" | " | " | " | | " | | " | " | \" /|| | " | " | " ) | " | " | | " | " | | "
| | | | | | | | | | | | L 7D02 | | | | | |
| | | | | | | m | | | | PAGE 04 ) | | | |
| | | | | | | | PAGE 13 | | | | I \ | | | | | | |
| | | | | | | | | | | | | | | | | |
| | | | | | | | | | | | | | | | | | | | |
| | | | | | | | | | | | | | | | | |
| | | | | | | | | | | | | | | | | | | | | | | | | |
| | | | | | | | | | | | | | | | | | | | | | | |
" | " | " | " | | " | | " | " | " | " | " | " " | " | " | " | " Vi " =P " | " | " | | " | " | | "
| | | | | | | | | | | | | | | | I D047 | | | | | | | |
| | | | | | | | | | | | | | I \WE Wy | | | | | |
" | " | " | " | | " | | " | " | " | " | " | " | " | " | " | " " : " | " | " | " | | " | " | | "
=GRO UN D i LEVEL A I | N | 1 I I I [ I L [ | | L [ [ | O O —— | | [ ¥ I |

2400mm MAX VERTICAL EXPANSION { N
/ JOINT FROM CORNER # SEE CONSTRUCTION MANUAL FOR MAX VERTICAL EXPANSION JOINT SPACING

REV DESCRIPTION BY | DATE DESIGNED BY ( DRAWING TITLE REVISION
01 |INFORMO1TION P.A |01/10/2019 BRICKS&TM PA
P PAVERS . | =" a TYPICAL ELEVATION 01
PAPER SIZE
A:75 _Townson R_oad, Schofields, NSW 2762
v A3 wm DRAWING NUMBER SHEET NO
F: 612 8362 9005 . .
ABN 68 168 794 821 SCALE A brICk Wdlllng System
e | AVA-TYP-ELEV 02
Do not scale this drawing \_




i 600 i 600 i 600 i 600 i

2400mm MAX AVANTE RAILS*
POSITION OF FIXINGS TO PERIMETER

| s MIN 12mm EDGE DISTANCE (TYP)
/ 3 |
& ;’L"‘ CL O o i 4# q‘
6. : 6
? 9 O~ d O ?
Ae . ] 616 ¢
Al © °;
o1 ? 4& N g}
+. (et 5
| STAGGERED FIXING
3 12G FASTENERS*
-
L 1200 MAX FIXING CENTRES L
TOP HATS*, Z-SECTIONS* OR HELPING FINAL DESIGN AND CERTIFICATION OF ALL ELEMENTS
HANDS* @ 600 CTRS TO CREATE CAVITY TO THE INSIDE OF THE AVANTE RAIL TO BE CARRIED
OUT BY THE PROJECT DESIGN PROFESSIONAL
REV DESCRIPTION BY | DATE DESIGNED BY (DRAWING TITLE REVISION

01 |FOR CONSTRUCTION P.A | 01/10/2019 ™
.pG BRICKS." 7. FIXING PATTERN 01
A: 75 Townson Road, Schofields, NSW 2762
E: corium@pghbricks.com.au
T: 61 2 9235 8000 A3 DRAWING NUMBER SHEET NO

F: 612 8362 9005

- - -
ABN 68 168 794 821 SCALE A bf'le qullng SYStel I l
©PGH Bricks and Pavers Pty Ltd 2017. This document should not be reproduced or communicated AVA—TY P - D O 1 03

without the prior written approval of PGH Bricks & Pavers Pty Ltd N / A

Do not scale this drawing 4§




MIN 25mm CAVITY FORMED USING

LIGHT GAUGE

TOP HATS*, Z-SECTIONS* OR
HELPING HANDS* @ 600 CTRS

12G FASTENERS*

MAX 31mm OVERALL AVANTE

SYSTEM (RAIL AND BRICK FACING)

10mm MORTAR* JOINT

HORIZONTAL TOP HAT

AVANTE RAIL*

STEEL / TIMBER
FRAMING

MAX 31mm OVERALL AVANTE

SYSTEM (RAIL AND BRICK FACING)

10mm MORTAR* JOINT

ya\

12G FASTENERS*

MIN 25mm CAVITY FORMED USING
TOP HATS*, Z-SECTIONS* OR

HELPING HANDS* @ 600 CTRS

MIN 12mm EDGE DISTANCE

12G FASTENERS*

——— e ———— ]

A
< -
g P
. _ ,
CONCRETE / MASONRY
WALL .
- A
g
4 /
J
A . 4 g

, CONCRETE WALL*/
© - M8 x 80 ANCHORS FOR
MASONRY WALL*

M8 x 60 ANCHORS FOR .

: <
| 4
I
H N
14 4 |
230*76mm AVANTE 3%2 !
BRICK FACINGS* CLEAT | B 4
% a ¥y
AVANTE RAIL*
VERTICAL TOP HAT /'F ﬂﬁ 7 :
q .
230*76mm AVANTE 4 g
AIR/'WATER/VAPOUR BRICK FACINGS 4 A A
BARRIER IF REQUIRED .
FOR OVERALL WALL g
rC\l)g-ll:ll(S)'ll}lRf\lleTION CODE AIR/WATER/VAPOUR BARRIER IF mg
(NCC) COMPLIANCE REQUIRED FOR OVERALL WALL % .
NATIONAL CONSTRUCTION A <. _
CODE (NCC) COMPLIANCE 4 A
Y / 4 g
01 TYPICAL LIGHT GAUGE STUD FRAMING FINAL DESIGN AND CERTIFICATION OF ALL ELEMENTS 02 TYPICAL CONCRETE WALL
SCALENA TO THE INSIDE OF THE AVANTE RAIL TO BE CARRIED SCALENA
OUT BY THE PROJECT DESIGN PROFESSIONAL
p
01 |FOR CONSTRUCTION P.A | 01/10/2019 BRICKS &TM PA
02 |REISSUED FOR CONSTRUCTION M.E |19/11/2021 01/10/2019 TYPlCAL AVANTE WALL SECTION (SlDE VlEW)
03 |REISSUED FOR CONSTRUCTION M.E [20/07/2022 PAVERS - A 04
04 |REISSUED FOR CONSTRUCTION M.E [23/01/2023
A.: 75 _Townson Rgad, Schofields, NSW 2762
5 E?rggg’%g%%té%cks.com.au A3 % w
F: 5 . .
— A brick walling system
©PGH Bricks and Pavers Pty Ltd 2017. This document should not be reproduced or communicated AVA—TYP—D02 04
without the prior written approval of PGH Bricks & Pavers Pty Ltd N/A
Do not scale this drawing \




LIGHT GAUGE STEEL / TIMBER FRAMING

CONCRETE / MASONRY WALL

- 4 ) ’ \A N 4 a4 < .
N g 4 . 4 a <.
= 4 4 : < : 4 g _ :
< 4 a o .4 <
N 4 g 4 2 A
< 94 . B
.. a0 e 4
4 A . .4 . ' < L - g .
N : Ll a 4 ./ —M8x60ANCHORS FOR L g
o 4’9/ - CONQRETE WALL*/. .- i
=2 ” MBx80ANCHORS FOR 4. Cave )
- : : g " MASONRY WALL* S A
4 < L4 a : L : L e
HORIZONTAL TOP HAT -9 7 a - o .
VERTICAL TOP HAT < - a4 _ : a 4
4 Pa) ’ ‘< A q.
< . a4 ' : . 9
g 4 ' 4

MIN 12mm EDGE
B DISTANCE

MAX 31mm OVERALL
AVANTE SYSTEM (RAIL
AND BRICK FACING)

k 12G FASTENERS*

10mm MORTAR* JOINT
12G FASTENERS*

230*76mm AVANTE BRICK FACINGS*

AIR/WATER/VAPOUR BARRIER IF REQUIRED FOR OVERALL
WALL NATIONAL CONSTRUCTION CODE (NCC) COMPLIANCE

MIN 25mm CAVITY FORMED USING TOP HATS*, Z-SECTIONS* OR HELPING HANDS* @ 600 CTRS

N\

12G FASTENERS*
MAX 31mm OVERALL

AVANTE SYSTEM (RAIL
AND BRICK FACING)

12G FASTENERS*

AVANTE RAIL*

10mm MORTAR* JOINT

230*76mm AVANTE BRICK FACINGS*

AIR/WATER/VAPOUR BARRIER IF REQUIRED FOR OVERALL
WALL NATIONAL CONSTRUCTION CODE (NCC) COMPLIANCE

MIN 25mm CAVITY FORMED USING TOP HATS*, Z-SECTIONS* OR HELPING HANDS* @ 600 CTRS

TYPICAL LIGHT GAUGE STUD FRAMING

FINAL DESIGN AND CERTIFICATION OF ALL ELEMENTS
TO THE INSIDE OF THE AVANTE RAIL TO BE CARRIED

TYPICAL CONCRETE WALL

01 02
SCALE NiA OUT BY THE PROJECT DESIGN PROFESSIONAL SCALE NIA
( \
01 |FOR CONSTRUCTION P.A | 01/10/2019 BRICKS &TM P.A
02 REISSUED FOR CONSTRUCTION M.E [19/11/2021 01/10/2019 TYP'CAL AVANTE WALL SECT'ON (TOP V|EW)
03 REISSUED FOR CONSTRUCTION M.E [20/07/2022 PAVERS 03
A: 75 Townson Road, Schofields, NSW 2762
E: corium@pghbricks.com.au
T: 6129235 8000 A3 % w
F: 612 8362 9005 . .
e 102 A brick walling system o5
R g e | AVA-TYP-D03
Do not scale this drawing \_ J




L\.
Y g A
MAX 31mm OVERALL AVANTE SYSTEM (RAIL AND BRICK FACING) ; . A A
g A
. g 4
12G FASTENERS* o : <
\ 4 <
MIN 25mm CAVITY FORMED USING TOP HATS*, A A4 <
Z-SECTIONS* OR HELPING HANDS* @ 600 CTRS ' a : A é
< . 4
g A
AIR/WATER/VAPOUR BARRIER IF REQUIRED FOR OVERALL '
WALL NATIONAL CONSTRUCTION CODE (NCC) COMPLIANCE g
. g |
A - A _ <
VERTICAL TOP HAT A g a4 4 A
. A <
CLEAT .
g . - 4
N . _ g 4
. A :
. < : _ _ A
12G FASTENERS _ g .4
CONCRETE / MASONRY a '
AVANTE RAIL* < A WALL
10mm MORTAR* JOINT 4 A 4 o - o .
< : ' 4 4 _
M8x 60 ANCHORS FOR < . _ Al
CONCRETE WALL*/ : ' )
_ M8 x 80 ANCHORS FOR
230*76mm AVANTE BRICK FACINGS* A MASONRY WALE g
1 e I A 4 '
FLASHING IF REQUIRED FOR OVERALL WALL NCC COMPLIANCE N A ' o al A
SEAL AND DRAIN AS REQUIRED FOR OVERALL WALL NCC COMPLIANCE. ALL IN 12mm 'EDGE DISTANCE . A ' . : ' J
SEALANTS TO BE COMPATIBLE WITH AVANTE BRICK FACINGS AND MORTAR. . g : ' /
; . _ - <7
WEEP HOLE SCREEN o 4 4 ;
A A _
g 4 .
FLOOR d o '
e — ‘A 4 <
77777777777777777777777777777777777777777777777777777777777777777777777777777777777777777777777777777777777 _ A . @ _
——————————————————————————————————————————————————————————————————————————————————————————————————————————— N ' . A
fffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffff < - : 4 A
fffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffff _ . R
FINAL DESIGN AND CERTIFICATION OF ALL ELEMENTS
TO THE INSIDE OF THE AVANTE RAIL TO BE CARRIED
OUT BY THE PROJECT DESIGN PROFESSIONAL
( \
01 |FOR CONSTRUCTION P.A | 01/10/2019 BRICKS&TM PA
02 REISSUED FOR CONSTRUCTION M.E [19/11/2021 01/10/2019
03 REISSUED FOR CONSTRUCTION M.E [20/07/2022 pG PAVERS - @@ F LOO R F LAS H I N G D ETAI L 04
04 REISSUED FOR CONSTRUCTION M.E [23/01/2023
A.: 75 _Townson Rpad, Schofields, NSW 2762
T o1 2o e A3 Qﬂ,
F: 612 8362 9005 . .
ABN 68 168 794 821 A brICk qullng System
©PGH Bricks and Pavers Pty Ltd 2017. This document should not be reproduced or communicated AVA—TYP—DO4 06
without the prior written approval of PGH Bricks & Pavers Pty Ltd N/A
Do not scale this drawing 1\ J




METAL CAPPING

COMPLIANCE. ALL SEALANTS TO BE COMPATIBLE

WITH AVANTE BRICK FACINGS AND MORTAR.

SEAL AS REQUIRED FOR OVERALL WALL N(\

AIR/WATER/VAPOUR BARRIER IF REQUIRED FOR OVERALL

WALL NATIONAL CONSTRUCTION CODE (NCC) COMPLIANCE \

12G FASTENERS*

VERTICAL TOP HAT

MIN 25mm CAVITY FORMED USING TOP HATS?,
Z-SECTIONS* OR HELPING HANDS* @ 600 CTRS \

FINAL DESIGN AND CERTIFICATION OF ALL ELEMENTS
TO THE INSIDE OF THE AVANTE RAIL TO BE CARRIED
OUT BY THE PROJECT DESIGN PROFESSIONAL

12G FASTENERS*
AVANTE RAL\ LIGHT GAUGE STEEL / TIMBER
FRAMING
10mm MORTAR* JOINT
230*76mm AVANTE BRICK FACNGS%
MAX 31mm OVERALL AVANTE SYSTEM (RAIL AND BRICK FACING)
e M /
4 )
01 |FOR CONSTRUCTION P.A | 01/10/2019 BRICKS &TM PA
02 |REISSUED FOR CONSTRUCTION M.E [19/11/2021 0111012019
03 |REISSUED FOR CONSTRUCTION M.E [23/01/2023 pG PAVERS TYPICAL CAPPING DETAIL 03
A:75 _Townson Rgad, Schofields, NSW 2762
Tior 280000 A3
F: 6128362 9005 . .
ABN 68 168 794 821 A brICk WG I I I n Stem
e e o ot s N/A S sy AVA-TYP-D05 07
Do not scale this drawing 1\ J




AIR/WATER/VAPOUR BARRIER IF REQUIRED FOR OVERALL WALL

NATIONAL CONSTRUCTION CODE (NCC) COMPLIANCE
CLEAT

12G FASTENERS*

12G FASTENERS*

230*76mm AVANTE BRICK FACINGS*

FLASHING AT SLAB EDGE IF REQUIRED
FOR OVERALL WALL NCC COMPLIANCE

LEG OF AVANTE RAIL TO BE TRIMMED TO ALLOW GAP FOR MOVEMENT

SEAL AND DRAIN AS REQUIRED FOR
OVERALL WALL NCC COMPLIANCE. SEALANT
TO SUIT DESIGN BUILDING MOVEMENTS.

MIN 20 mm - CONFIRM WITH PROJECT
DESIGN PROFESSIONAL REQUIRED Y
DESIGN MOVEMENT AND JOINT SIZE

7

>

ol

F

LIGHT GAUGE STEEL / TIMBER
FRAMING

\,_'_\\ ')
| ap | A <
| - | A
< M8 x 60 ANCHORS FOR |
X
' ' CONCRETE WALL*/ < A
M8 x 80 ANCHORS FOR
MASONRY WALL*
< 4
IN 12mm EDGE DISTANCE a <7
: CONCRETE SLAB / EDGE BEAM A
< . .
. : <J
A _ .
: <7 A
TT7T

MIN 25mm CAVITY FORMED USING TOP HATS*,
Z-SECTIONS* OR HELPING HANDS* @ 600 CTRS

MAX 31mm OVERALL AVANTE SYSTEM (RAIL AND BRICK FACING)

AVANTE RAIL*

10mm MORTAR* JOINT

VERTICAL TOP HAT

HORIZONTAL TOP HAT

LIGHT GAUGE STEEL / TIMBER
FRAMING

FINAL DESIGN AND CERTIFICATION OF ALL ELEMENTS
TO THE INSIDE OF THE AVANTE RAIL TO BE CARRIED
OUT BY THE PROJECT DESIGN PROFESSIONAL

01

02

03

04

FOR CONSTRUCTION P.A | 01/10/2019

REISSUED FOR CONSTRUCTION M.E [19/11/2021

REISSUED FOR CONSTRUCTION M.E 20/07/2022

REISSUED FOR CONSTRUCTION M.E 23/01/2023

PAVERS

A: 75 Townson Road, Schofields, NSW 2762
E: corium@pghbricks.com.au

T: 6129235 8000

A3

F: 612 8362 9005

ABN 68 168 794 821

©PGH Bricks and Pavers Pty Ltd 2017. This document should not be reproduced or communicated
without the prior written approval of PGH Bricks & Pavers Pty Ltd

N/A

Do not scale this drawing

BRICKS&™ ©/..o

A brick walling system

HORIZONTAL CONTROL JOINT AND SLAB EDGE FLASHING DETAIL

04

AVA-TYP-DO06 08

.




INTERNAL FINISHES

FINAL DESIGN AND CERTIFICATION OF ALL ELEMENTS
TO THE INSIDE OF THE AVANTE RAIL TO BE CARRIED
OUT BY THE PROJECT DESIGN PROFESSIONAL

A | | o A9 L T2 4 N
4 g 2 . * M8 x 60 ANCHORS FOR . - A ' g : 4 A
. a- YONERETE WALL*/ ; ' : . g -
CONCRETE / MASONRY S S
3 M8 x 80 ANCHORS F@R WALL 4 .
7. A - MASONRY WALL* - T4 < . _
. A < . A o _ . . <
y . . g : S .4 N : d
a4 A S g | L 4 . 4
< _ o | " - AVANTE RAIL CANTILEVER SPAN* 4 4. AVANTE RAIL CANTILEVER SPAN* _
- 4 4 4
9N A < A : 4

MIN 12mm EDGE
DISTANCE

r
L L)
XXX

MAX 31mm OVERALL AVANTE
SYSTEM (RAIL AND BRICK FACING)

MIN 25mm CAVITY FORMED USING TOP HATS*,
Z-SECTIONS* OR HELPING HANDS* @ 600 CTRS

AVANTE RAIL*

VERTICAL TOP HAT

MIN 15 mmJgJ(

\ 12G FASTENERS*

AIR'WATER/VAPOUR BARRIER IF
REQUIRED FOR OVERALL WALL NATIONAL
CONSTRUCTION CODE (NCC) COMPLIANCE

230*76mm AVANTE BRICK FACINGS*

— SEAL AS REQUIRED FOR OVERALL WALL NCC COMPLIANCE.

10mm MORTAR* JOINT

CLEAT SEALANT TO SUIT DESIGN BUILDING MOVEMENTS.
( \
01 |FOR CONSTRUCTION P.A | 01/10/2019 BRICKS&TM PA
02 REISSUED FOR CONSTRUCTION M.E [19/11/2021 01/10/2019
03 REISSUED FOR CONSTRUCTION M.E [20/07/2022 p PAVERS VERTICAL EXPANSION JOINT DETAIL 03

A: 75 Townson Road, Schofields, NSW 2762

E: corium@pghbricks.com.au
T: 6129235 8000
F: 612 8362 9005

ABN 68 168 794 821

©PGH Bricks and Pavers Pty Ltd 2017. This document should not be reproduced or communicated
without the prior written approval of PGH Bricks & Pavers Pty Ltd

Do not scale this drawing

A3

N/A

S Avante

A brick walling system AVA-TYP-07

.

09




SEAL AS REQUIRED FOR OVERALL WALL NCC
COMPLIANCE. ALL SEALANTS TO BE COMPATIBLE
WITH AVANTE BRICK FACINGS AND MORTAR

WINDOW JAMB

AIR/WATER/VAPOUR BARRIER IF REQUIRED FOR OVERALL
WALL NATIONAL CONSTRUCTION CODE (NCC) COMPLIANCE

q

—

LIGHT GAUGE STEEL / TIMBER L
FRAMING
LIGHT GAUGE STEEL / TIMBER [P
FRAMING
AIR/WATER/VAPOUR BARRIER IF REQUIRED FOR OVERALL
WALL NATIONAL CONSTRUCTION CODE (NCC) COMPLIANCE
_ AVANTE RAIL , | [: ‘
AVANTE RAIL 1" CANTILEVER SPAN* ﬁ
’QCANTILEVER SPAN* I HORIZONTAL TOP HAT
INSTALL SHEAR BLOCK —X VERTICAL TOP HAT §
@MAX 300 CTRS E
o
z ) = pe———r
— =
MAX 10 mm \
i WINDOW SHROUD /
- ANGLE TRIM
s
L/ 4
L 7
AQ”/QE?;@Q‘S?EER(IA%L 10mm MORTAR* JOINT MAX 31mm OVERALL MIN 10mm
* AVANTE SYSTEM (RAIL 10mm MORTAR* JOINT
AND BRICK FACING) 12G FASTENERS AND BRICK FACIg\lG)
12G FASTENERS*
MIN 25mm CAVITY FORMED USING TOP HATS?, MIN 25mm CAVITY FORMED USING TOP HATS*,
Z- SECTIONS* OR HELPING HANDS* @ 600 CTRS Z-SECTIONS* OR HELPING HANDS* @ 600 CTRS
AVANTE RAIL*
AVANTE RAIL* 230*76mm AVANTE BRICK FACINGS*
SEAL AND DRAIN AS REQUIRED FOR OVERALL WALL NCC COMPLIANCE. ALL
230*110*76mm AVANTE PISTOL CORNER SEALANTS TO BE COMPATIBLE WITH AVANTE BRICK FACINGS AND MORTAR
FINAL DESIGN AND CERTIFICATION OF ALL ELEMENTS
01 \S/\C/LICIE['?‘/(BW JAMB DETAIL - BRICK REVEAL TO THE INSIDE OF THE AVANTE RAIL TO BE CARRIED 02 \S/XLIEIEE;/E)W JAMB DETAIL - METAL REVEAL
OUT BY THE PROJECT DESIGN PROFESSIONAL
<
01 INFORMO1TION P.A | 01/10/2019 ™ }
02 |REISSUED FOR CONSTRUCTION M.E [19/11/2021 . pG gﬁ&cEKRSS& (F)’1//\10/2019 WI NDOW JAMB DETAILS 02
A.: 75_Townson Rpad, Schofields, NSW 2762 A
5 E?rggg’%g%%lé%cks.com.au A3
F: 5 . .
ABN 68 168 794 821 A brICk WG I Ilng System
AVA-TYP-D08 10
J

Do not scale this drawing

©PGH Bricks and Pavers Pty Ltd 2017. This document should not be reproduced o commi
without the prior written approval of PGH Bricks & Pavers Pty Ltd

unicated

N/A

.




AIR'WATER/VAPOUR BARRIER IF R

EQUIRED FOR OVERALL

WALL NATIONAL CONSTRUCTION CODE (NCC) COMPLIANCE

DOOR JAMB

MIN 25mm CAVITY FORMED USING TOP HATS*,
Z-SECTIONS* OR HELPING HANDS* @ 600 CTRS

230*76mm AVANTE BRICK FACINGS*
10mm MORTAR* JOINT

. 4 A A ) KA .
< ) - ya) 4 - A o : : q
' v J . L oa M8 x 60 ANCHORS FOR - _ .
. y - A P v
. < o : 3 N © M8 x80 ANCHORS FOR £ CANTILEQER SPAN* 7
~ CONCRETE / MASONRY ' T R MASONRY WALL . N
g WALL LA A ' v - 4
a0 Y g a )
. . A .
o a4 7 | CLEAT — | N
. ' N A - _ ' a7 4
4 g :
A 2 o 4 4
V) <«
g 4 : A g
_____________ e e e ——————— e [——————
MIN 12mm EDGE |
MAX 31mm OVERALL AVANTE
DISTANCE
SYSTEM (RAIL AND BRICK FACING)
;
L
o O
MIN 10mm-=

12G FASTENERS*

VERTICAL TOP HAT 2 600 CTRS*

FINAL DESIGN AND CERTIFICATION OF ALL ELEMENTS
TO THE INSIDE OF THE AVANTE RAIL TO BE CARRIED
OUT BY THE PROJECT DESIGN PROFESSIONAL

AVANTE RAIL*

SEAL AS REQUIRED FOR OVERALL WALL NCC
COMPLIANCE. ALL SEALANTS TO BE COMPATIBLE
WITH AVANTE BRICK FACINGS AND MORTAR

01 |FOR CONSTRUCTION P.A | 01/10/2019
REISSUED FOR CONSTRUCTION M.E [19/11/2021
03 |REISSUED FOR CONSTRUCTION M.E 20/07/2022

BRICKS&™
PAVERS

A: 75 Townson Road, Schofields, NSW 2762
E: corium@pghbricks.com.au

T: 6129235 8000

F: 612 8362 9005

ABN 68 168 794 821

©PGH Bricks and Pavers Pty Ltd 2017. This document should not be reproduced or communicated

without the prior written approval of PGH Bricks & Pavers Pty Ltd

Do not scale this drawing

P.A
01/10/2019

A3

N/A

S Avante

A brick walling system

DOOR JAMB DETAILS

03

AVA-TYP-DO09

.

11




12G FASTENERS*

AVANTE RAIL* \

MIN 25mm CAVITY FORMED
USING TOP HATS*, Z-SECTIONS*
OR HELPING HANDS* @ 600 CTRS

230*76mm AVANTE BRICK FACINGS*

N4

MIN 15mm/\i
Z
SEAL AND DRAIN AS REQUIRED S
FOR OVERALL WALL NCC 22
COMPLIANCE. ALL SEALANTS TO w |
BE COMPATIBLE WITH AVANTE =
BRICK FACINGS AND MORTAR <2
<|z
Z
~NO
MAX 31mm OVERALL AVANTE
SYSTEM (RAIL AND BRICK FACING)
NZ
2
2/12G FASTENERS* FOR 22
EACH VERTICAL RAIL w |
|» E|>
ZY
/ <k
HORIZONTAL TOP HAT TO SUPPORT Z
VERTICAL AVANTE RAIL* B ©
VERTICAL AVANTE RAIL*MIN
RAIL ENGAGEMENT 50mm /
230*110*76mm AVANTE PISTOL CORNER MIN 10m

12G FASTENERS*

FRAMING

(NCC) COMPLIANCE

FLASHING IF REQUIRED

LIGHT GAUGE STEEL / TIMBER

\ AIR'WATER/VAPOUR BARRIER IF
REQUIRED FOR OVERALL WALL
NATIONAL CONSTRUCTION CODE

MAX 31mm OVERALL AVANTE
SYSTEM (RAIL AND BRICK FACING)

/ VERTICAL TOP HAT

AIR/WATER/VAPOUR BARRIER IF
REQUIRED FOR OVERALL WALL
NATIONAL CONSTRUCTION CODE
(NCC) COMPLIANCE

/

LIGHT GAUGE STEEL / TIMBER

MIN 25mm CAVITY FORMED USING FRAMING

TOP HATS*, Z-SECTIONS* OR
HELPING HANDS* @ 600 CTRS

/

12G FASTENERS*

[

AVANTE RAIL*

12G FASTENERS*
/ 12G FASTENERS*
/ HORIZONTAL TOP HAT

10mm MORTAR* JOINT

/

230*76mm AVANTE BRICK FACINGS*

/

WEEP HOLE SCREEN

/

MIN 15mm

-

SEAL AND DRAIN AS REQUIRED
FOR OVERALL WALL NCC
COMPLIANCE. ALL SEALANTS TO
BE COMPATIBLE WITH AVANTE

BRICK FACINGS AND MORTAR

SEAL AS REQUIRED FOR OVERALL WALL NCC
COMPLIANCE. ALL SEALANTS TO BE COMPATIBLE
WITH AVANTE BRICK FACINGS AND MORTAR

L

2

WINDOW SHROUD / ANGLE TRIM

;

i

WINDOW HEAD DETAIL - BRICK REVEAL

01 SCALE N/A

FINAL DESIGN AND CERTIFICATION OF ALL ELEMENTS TO THE INSIDE OF THE
AVANTE RAIL TO BE CARRIED OUT BY THE PROJECT DESIGN PROFESSIONAL

WINDOW HEAD DETAIL - METAL REVEAL

SCALE N/A

02

01 |FOR CONSTRUCTION

P.A

01/10/2019

02 |REISSUED FOR CONSTRUCTION

M.E

19/11/2021

03 |REISSUED FOR CONSTRUCTION

M.E

23/01/2023

PG

A: 75 Townson Road, Schofields, NSW 2762

E: corium@pghbricks.com.au
T: 6129235 8000
F: 612 8362 9005

ABN 68 168 794 821

BRICKS&TM (F)’i/;10/2019
PAVERS |

A3

©PGH Bricks and Pavers Pty Ltd 2017. This document should not be reproduced or communicated
without the prior written approval of PGH Bricks & Pavers Pty Ltd

Do not scale this drawing

N/A

TYPICAL AVANTE WINDOW HEAD DETAIL

03

S Ava

A brick walling system AVA.TYP-D10 12

.




SEAL AS REQUIRED FOR OVERALL WALL
NCC COMPLIANCE. ALL SEALANTS TO BE
COMPATIBLE WITH AVANTE BRICK
FACINGS AND MORTAR

WINDOW SUB-SILL OR EXTENDED
CLADDING/FLASHING

230*110*76mm AVANTE PISTOL CORNER

MIN. 6mm
[

VERTICAL AVANTE RAIL*-MIN —— E\? D} SEAL AS REQUIRED FOR OVERALL —
RAIL ENGAGEMENT 50mm § EO) u WALL NCC COMPLIANCE. ALL
/ SEALANTS TO BE COMPATIBLE WITH g ﬁj
] AVANTE BRICK FACINGS AND MORTAR —
e | 7
HORIZONTAL TOP HAT TO z Q
SUPPORT VERTICAL AVANTE RAIL* <=(| E ez
(7] N
Oy 2
L L o
E a LIGHT GAUGE STEEL / TIMBER
2/12G FASTENERS* FOR — <>( - FRAMING
EACH VERTICAL RAIL < E *
5 | AVANTE RAIL

LIGHT GAUGE STEEL / TIMBER
FRAMING

12G FASTENERS* 10mm MORTAR* JOINT

AIR/WATER/VAPOUR BARRIER IF —
REQUIRED FOR OVERALL WALL
NATIONAL CONSTRUCTION CODE
(NCC) COMPLIANCE

230*76mm AVANTE
BRICK FACINGS*

/

HORIZONTAL TOP HAT

il

MIN 25mm CAVITY FORMED USING
TOP HATS", Z-SECTIONS” OR \ AIRWATER/VAPOUR BARRIER IF
HELPING HANDS* @ 600 CTRS REQUIRED FOR OVERALL WALL \
NATIONAL CONSTRUCTION

CODE (NCC) COMPLIANGE

MIN 25mm CAVITY FORMED USING

TOP HATS*, Z-SECTIONS* OR \
HELPING HANDS* @ 600 CTRS

12G FASTENERS*

\
=
MAX 31mm OVERALL AVANTE | \
| VERTICAL TOP HAT
f/ % % I

12G FASTENERS*

10mm MORTAR* JOINT

AVANTE RAIL
CANTILEVER SPA

VERTICAL TOP HAT

P 3

HORIZONTAL AVANTE RAIL* ——
—12G FASTENERS*

12G FASTENERS* —Mm™—— |

HORIZONTAL TOP HAT

230*76mm AVANTE
BRICK FACINGS*

MAX 31mm OVERALL AVANTE
SYSTEM (RAIL AND BRICK FACING)

s
FINAL DESIGN AND CERTIFICATION OF ALL ELEMENTS
01 \S/\C/L'CIE[,?,,(BW SILL DETAIL - BRICK REVEAL TO THE INSIDE OF THE AVANTE RAIL TO BE CARRIED 02

OUT BY THE PROJECT DESIGN PROFESSIONAL

SYSTEM (RAIL AND BRICK FACING)
WINDOW SILL DETAIL - METAL REVEAL

SCALE N/A

01

FOR CONSTRUCTION

P.A

01/10/2019

02

REISSUED FOR CONSTRUCTION

M.E

19/11/2021

03

REISSUED FOR CONSTRUCTION

M.E

23/01/2023

PG

E: corium@pghbricks.com.au
T: 6129235 8000
F: 612 8362 9005

ABN 68 168 794 821

BRICKS&™
PAVERS

A: 75 Townson Road, Schofields, NSW 2762

Do not scale this drawing

©PGH Bricks and Pavers Pty Ltd 2017. This document should not be reproduced or communicated
without the prior written approval of PGH Bricks & Pavers Pty Ltd

P.A
01/10/2019

A3

N/A

S Avante

A brick walling system

TYPICAL AVANTE WINDOW SILL DETAIL

03

.

AVA-TYP-D11

13




MAX 31mm OVERALL AVANTE | : — < ﬁ .
- SYSTEM (RAIL AND BRICK FACING) < | A CLEAT : 7\ CONCRETE / MASONRY WALL
A 12G FASTENERS* ] ' 12G FASTENERS* % ' A : A
. - . VERTICAL TOP HAT | A
. <7 N
_ _ CLEAT* — ke e ———— —— I
CONCRETE / MASONRY | | <l
WALL M8 x 60 ANCHORS FOR —._ | MIN 12mm EDGE
CONCRETE WALL* / DISTANCE |
M8 x 80 ANCHORS FOR N |
MASONRY WALL* |
VERTICAL TOP HAT A .
A - | 2 |
/) 4 o 1
- | o 59
< | = Iﬁ
. _ o MIN 10mm (VERTICAL R
2.4m MAX EXPANSION JOINT DISTANCE : . | = EXPANSION JOINT) | A
. &) .
= I
| g |
_________________ I w SEALANT TO SUIT DESIGN |
I — e BUILDING MOVEMENTS. ] 1
T DISTANGE < NN
DISTANCE AVANTE RAIL > | A N
N CANTILEVER SPAN* - 230*76mm AVANTE BRICK FACINGS* Il ||
\ LT I
- . 10mm MORTAR* JOINT
AVANTE RAIL* |
12G FASTENERS* |
<7
M12(3 FASTENERS* _
INSTALL SHEAR BLOCK | Aﬁ
@MAX 300 CTRS L 230*110*76mm AVANTE |
PISTOL CORNER
10mm MORTAR* JOINT MIN 25mm CAVITY FORMED USING TOP HATS*, |
Z-SECTIONS* OR HELPING HANDS* @ 600 CTRS
230%110*76mm AVANTE PISTOL CORNER — — CORNER ANGLE FIXED |
TO THE BACK OF RAILS* / |
MIN 25mm CAVITY FORMED USING TOP HATS* AIR/WATER/VAPOUR BARRIER IF REQUIRED FOR OVERALL |
Z-SECTIONS* OR HELPING HANDS* @ 600 CTRS WALL NATIONAL CONSTRUCTION CODE (NCC) COMPLIANCE | <
AIR/WATER/VAPOUR BARRIER IF REQUIRED FOR OVERALL WALL "MAX 31mm OVERALL AVANTE SYSTEM (RAIL AND BRICK FACING) |
NATIONAL CONSTRUCTION CODE (NCC) COMPLIANCE | A
|
FINAL DESIGN AND CERTIFICATION OF ALL ELEMENTS
01)—EXTERNAL CORNER DETAIL TO THE INSIDE OF THE AVANTE RAIL TO BE CARRIED 02 L’E‘IEESANAL CORNER DETAIL
SCALE N/A OUT BY THE PROJECT DESIGN PROFESSIONAL
( \

01

FOR CONSTRUCTION P.A

02

REISSUED FOR CONSTRUCTION

03

REISSUED FOR CONSTRUCTION

01/10/2019
M.E [19/11/2021
M.E 20/07/2022

A: 75 Townson Road, Schofields, NSW 2762
E: corium@pghbricks.com.au

T: 6129235 8000

F: 612 8362 9005

ABN 68 168 794 821

PAVERS

©PGH Bricks and Pavers Pty Ltd 2017. This document should not be reproduced or communicated
without the prior written approval of PGH Bricks & Pavers Pty Ltd

Do not scale this drawing

A3

N/A

BRICKS&™ ©/..o

S Avante

A brick walling system

TYPICAL AVANTE CORNER DETAILS

03

AVA-TYP-D12

.

14




12G FASTENERS*

/

HORIZONTAL TOP HAT

AIR/WATER/VAPOUR BARRIER IF REQUIRED FOR OVERALL

WALL NATIONAL CONSTRUCTION CODE (NCC) COMPLIANCE \
MIN 25mm CAVITY FORMED USING TOP HATS*,

Z-SECTIONS* OR HELPING HANDS* @ 600 CTRS

jW

LIGHT GAUGE STEEL / TIMBER
FRAMING

MAX 31mm OVERALL AVANTE SYSTEM (RAIL AND BRICK FACING)

12G FASTENERS*

/

CLEAT

/

12G FASTENERS*

/

d

AVANTE RAIL* -M8 x 60 ANCHORS FOR <J 4
CONCRETE WALL* /
" M8 x 80 ANCHORS FOR
MASONRY WALL*
10mm MORTAR* JOINT J N .
= - A CONCRETE SLAB <
4\
230*76mm AVANTE BRICK FACINGS* :
MIN 12mm EDGE DISTANCE .
. : <
A' ' SOFFIT LINING
SEAL AND DRAIN AS REQUIRED FOR OVERALL WALL NCC COMPLIANCE. ALL
SEALANTS TO BE COMPATIBLE WITH AVANTE BRICK FACINGS AND MORTAR DRIP GROOVE A
WEEP HOLE SCREEN S ' A <7
FINAL DESIGN AND CERTIFICATION OF ALL ELEMENTS
TO THE INSIDE OF THE AVANTE RAIL TO BE CARRIED \
OUT BY THE PROJECT DESIGN PROFESSIONAL SHELF ANGLE / ANGLE TRIM
p
01 |FOR CONSTRUCTION P.A | 01/10/2019 BRICKS&TM PA
02 |REISSUED FOR CONSTRUCTION M.E [19/11/2021 01/10/2019 TYP|CAL AVANTE DETAIL ABUTT|NG TO SOFF|T LINE
03 REISSUED FOR CONSTRUCTION M.E |20/07/2022 PAVERS - 04
04 REISSUED FOR CONSTRUCTION M.E [23/01/2023
A.: 75 _Townson Rgad, Schofields, NSW 2762
T e e ang oo A3 %
F: 612 8362 9005 . .
ABN 68 168 794 821 A brICk WG I I I n Stem
©PGH Bricks and Pavers Pty Ltd 2017. This document should not be reproduced or communicated 9 Sy AVA_TYP_D 1 3 15

without the prior written approval of PGH Bricks & Pavers Pty Ltd N/A

Do not scale this drawing

.




INTERNAL FINISHES

CONCRETE / MASONRY COLUMN / WALL

FINAL DESIGN AND CERTIFICATION OF ALL ELEMENTS
TO THE INSIDE OF THE AVANTE RAIL TO BE CARRIED
OUT BY THE PROJECT DESIGN PROFESSIONAL

LIGHT GAUGE STEEL / TIMBER
FRAMING

CLEAT

N

VERTICAL TOP HAT @ 600 CTRS*

4

M8 x 60 ANCHORS FO)

N CONCRETE WALL* /
M8 x 80 ANCHORS FOR
MASONRY WALL*
4. 12G FASTENERS* [
- AB
N oA
. .

LIGHT GAUGE STEEL / TIMBER
FRAMING

MIN 12mm EDGE

DISTANCE

i

MIN 10mmJJ‘

230*110*76mm TRADITIONAL BRICKWORK

230*76mm AVANTE BRICK FACINGS* 10mm MORTAR* JOINT

AVANTE RAIL*

MIN 25mm CAVITY FORMED USING TOP HATS?,
Z-SECTIONS* OR HELPING HANDS* @ 600 CTRS

MAX 31mm OVERALL
AVANTE SYSTEM (RAIL
AND BRICK FACING)

12G FASTENERS*

/—MIN 10mm

SEAL AS REQUIRED FOR OVERALL WALL NCC
COMPLIANCE. ALL SEALANTS TO BE COMPATIBLE
WITH AVANTE BRICK FACINGS AND MORTAR

01 |FOR CONSTRUCTION P.A |01/10/2019
02 |REISSUED FOR CONSTRUCTION M.E [19/11/2021
03 |REISSUED FOR CONSTRUCTION M.E [20/07/2022

BRICKS&™

. pG PAVERS

A: 75 Townson Road, Schofields, NSW 2762
E: corium@pghbricks.com.au

T: 6129235 8000

F: 612 8362 9005

ABN 68 168 794 821

©PGH Bricks and Pavers Pty Ltd 2017. This document should not be reproduced or communicated
without the prior written approval of PGH Bricks & Pavers Pty Ltd

Do not scale this drawing

P.A
01/10/2019

A3

N/A

> Avante

A brick walling system

TYPICAL AVANTE DETAIL ABUTTING INTO TRADITIONAL BRICKWORK

03

AVA-TYP-D14 16

.




FINAL DESIGN AND CERTIFICATION OF ALL ELEMENTS
TO THE INSIDE OF THE AVANTE RAIL TO BE CARRIED
OUT BY THE PROJECT DESIGN PROFESSIONAL

o o
© ° 0554 @
N~ 0
[oe]
01 AVANTE STANDARD BRICK 02 AVANTE RAIL
SECTION DETAIL SECTION DETAIL
( N
01 |FOR CONSTRUCTION M.E | 20/07/2022 BRICKS &TM M.E
02 |REISSUED FOR CONSTRUCTION M.E |23/01/2023 PAVERS 20/07/2022 AVANTE BR'CK + RAIL 02
A: 75 Townson Road, Schofields, NSW 2762 A
E: corium@pghbricks.com.au
T: 61 2 9235 8000 A3
F: 6128362 9005 - -
s 712 A brick walling system .
T e | AVA-TYP-D15

Do not scale this drawing

.




	Sheets and Views
	230123-Avante Technical Manual Installation Drawings-LIST
	230123-Avante Technical Manual Installation Drawings-ELEV
	230123-Avante Technical Manual Installation Drawings-D01
	230123-Avante Technical Manual Installation Drawings-D02
	230123-Avante Technical Manual Installation Drawings-D03
	230123-Avante Technical Manual Installation Drawings-D04
	230123-Avante Technical Manual Installation Drawings-D05
	230123-Avante Technical Manual Installation Drawings-D06
	230123-Avante Technical Manual Installation Drawings-D07
	230123-Avante Technical Manual Installation Drawings-D08
	230123-Avante Technical Manual Installation Drawings-D09
	230123-Avante Technical Manual Installation Drawings-D10
	230123-Avante Technical Manual Installation Drawings-D11
	230123-Avante Technical Manual Installation Drawings-D12
	230123-Avante Technical Manual Installation Drawings-D13
	230123-Avante Technical Manual Installation Drawings-D14
	230123-Avante Technical Manual Installation Drawings-D15


